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Choose -the &offect statement from the

following statements —

Statement-I Human resource development is
a part of human resource
management.

Statement-II Human resource management is
a part of human resource
development.

(1) Statement I is correct

(2) Statement II is correct

(3) Statement I is wrong

(4) Both the statements are correct
Revolution in agricultural in India is known

as -

(1) White Revolution
(2) Red Revolution
(3) Blue Revolution

{4) Green Revolution

Which of the following factors is not included

in the economic factor affecting consumer

behaviour?

(1) Personal Income

(2) Personality

(3) Liquid Assets

(4) Family Income
The methods and techniques of Marketing
Research are -

(1) Survey

(2) Observation

(3) In-depth Interviews

(4) All of these

When did the President give assent to the
Consumer Protection Act, 20197

(1) 9 August, 2019

(2) 9 October, 2019

(3) 7 September, 2019

(4) 7 November, 2019

e s A | WE P TRy - =

Goon | AMT RN oM, aFa
- I W6 BT ST B |

& 11 AFEAE SR Y&, {6

1) P IEE T

(2) P I9d &

(@) PFITATE

@ TE FeE 98 g

IRT A PN B &3 A | Hia PN A
off?

1) uq Hifa

2) o Hifa

(3) el wifa

@ =Ra wifa

fr=feRaa ¥ 9 P9 Tc® SUHITT ATER
DI UWIdG B dlell E TeH | Aqiha
TE 87

1) <afdaTd 3IE

(2) <R

(3) Ta aHRY

@ UIRaiR® =

oo orgEaE @ R R Tede
g_

(1) e

) aesT

(3) TET AR

4) SuRIE Wi

IRy 7 SywIaaT GxET AR, 2019 B
W B9 USH BI?

(1) 93rr, 2019

(2). 93T, 2019

3) 7 =R, 2019

4) 79N, 2019
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6. Educational Psychology is definitely branchof 6. 35/ w=ifas Rif¥ww wu & w=ifds &
* ~ Psychology which prominently helps the cause 98 AT €, W o2 L D BRT BlteRl)
Of i, i o e B §
(1) Teaching and Motivation -¥ (1) fwor aﬁ? oo
(2) Personality and Learning (2 =T S wEE
(3) Teaching and Learning 3 e iR s
(4) Motivation and Personality ¢ @) IO SR Afde
7. Which of the following model guided teachers 7.  foe # & @ &7 wimm R @ Ryg —
to go to the depth of the contént? qRG BT IMETA B IR IR BT 87
(1) TInguiry model (1) qEarS Fiew
(2) Concept attainment model @ FreRy s aRer
(3) Advance organizer model &) R — e wfoAm
(4) Interaction analysis model @ srREar faweyor gioHm
8. Pradhan Mantri Awas Yojana Gramin 8. SuHSH IS T pIC
(PMAYG) was launched in which6f following (g aEs) & v o 9 59 af gy
year? T wrr er?
(1) 2015 @ 2015
(2) 2016 (2) 2016
3 2017 ' (3) 2017
@) 2018 @ 2018
9. The causes of resistance to change, based on 9.  f¥wal & AR, WRME! T4 TWRIT W®
the emotions, tendencies and expectations of aenRa o aRad=i o1 U’ gar & 9
the people are called - St DECARE |
(1) Economic causes (1) ‘Sufs wror
(2) Technical causes 2) TAIAIDBT BN
(3) Psychological causes 3) ¥AEIN® BRI
(4) Social causes (d) WFEISTE BRI
10. Rural Connectivity Project for Left Wing 10. e {37 vaafeficy &3 & g uriior dus
Extremism Areas (RCPLWEA) was launched gRaleFT (RCPLWEA) frer § & frw o
in which of following year? TR &) TS7
(1) 2016 @ 2016
(2) 2018 (2) 2018
3 2014 (3) 2014
4) 2015 @ 2015
05- 3% Page 3 of 32




“11. Which spécial zorie hds been established for 11,  Frfdl @r vicae & & forr o W iR

export promotions? &3 ST T 87
(1) Special Protected Zone (SPZ) QO Ry GRewr e
(2) Special Reservéd Zone (SRZ) 2 fEm R ax
(3) Special Restricted Zone (SRZ) 3) fom ufdERe a=
(4) Special Economic Zone (SEZ) @ TR9y anfdfe ax
12. Which of the following is not included in the 12, Fr=TiRad F ¥ B srefoT goll IR
unorganized.capital market? , STTEE'T ;r&pf g7
(1) Money Lenders Y Wﬂ
(2) Indigenous Banker (2) < dex
(3) Debenture Holders (3) YT gR®
(4) Sarrafs q @ e
13. Main areas of Educational Psychology 13. 9% =R & wyw &= # @i
includes — T -
(A) Society N (A) <A
(B) Learner ; tB) SRR B aTe]
(C) Learning process (C) IRRM o wiar
(D) Learning situation (D) R = Refy
(1) A,BandC . (1) A,B3RC
(@) A,BandD (2 A,B3RD
(3) B,CandD (3) B,C3RD
4 A,CandD @) A,C3RD
14. A,BandCarepa.rtners'inaﬁnn.IfA 14. ‘Wﬁﬁt{,é’fﬁiﬁﬁ‘ﬁ'ﬂ@m%lt{
withdraws T 3000 at the time of beginning of 3000 SfewE & U ¥ SN HRaT ©, 9N
each month. What will be the interest on P ofg ¥ T 3 TSR0 GX A5 fhaT WM 9rel
drawing charge to A at the,end of year? If rate = fha B8RP Ol 12% aiffe & =%
is 12% per annum - B —
1) 2160 1) 21602
@ <360 ’ @ 3602
(3) T1980 ¥ (3) 1980%
4y T2340 ¥ @) 2340%
15. Anamount set-aside to meet known liability is  15. 'or iR @ oif @ fre e ¥ <l
known as - ¥ FEART & —
(1) General Reserve (1) I I
(2) Revenue Reserve b Q) &FH Wy
(3) Provision e 3) DI

(4) Secret Reserve

5o @ I
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16;.

17.

18.

19.

20.

What was the initial problem noticed, when the  16.
New Economic Policy started in 19917

(1) Poor performance of public sector
(2) High tax rate

(3) Foreign money crisis

(4) Control on private sector

Debit note and credit note are - 17.

(1) source documents

(2) subsidiary documents

(3) secondary documents

(4) vouchers
Which of the following is an illustration of 18.
sunk cost?

(1) Interest on capital

(2) Production cost excluding Direct
material cost

(3) Expenses on erection of an machinery
(4) Cost of Building, Plant & Machinery

The birth of Functional Organization is 19.
attributed to -

(I) Allen

(2) F.W.Taylor

(3) Henri Fayol

(4) Peter F. Drucker

“The of International Trade is 20.

comparative difference in costs.”

basis

This definition was given by -
(1) Ricardo
(2) J1.S8.Mill
(3) Taussig
(4) Haberler

1991 % =¥ anidje Ny o goara @ @

A SN T @y of?

(1) 9ESE &85 BT G §Eee

2 SR

(3) =R g1 Hoe

@) T em ) A

S B fagl 9 9 P R € -

D) A -

(2) HERIE THI-VorE

() fFius vy

@ vEvIS

=ifeT # ¥ B9 9 999 AR &7 @

JEIER 37

(1) o W =

(2) SWET FFTT UUe AR SN B
e T8 B 59

(3) =N B SR 9 R @@

@) YE, < 9 TN D ARt

?ﬂlﬂiﬁﬁﬂaﬁa%wmimﬁmm

1) e

(2) TPI=Y, TR
(@) T B
@) deX T FH
“AFRE W AT SRR B SN
IR BT JER" e garm 2?

T el

Q) Rerst
2 wigw
(3 it
@) TEeR
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21. Purchasing Power Parity Theory was given 21. ¥ wfdq &aar Rigiq form fgmm e’
by -
(1) Ohlin M el
(2) Adam Smith @ A R
(3) Gustav Cassel 3 T=g Caic]
(4) Harold @ s
22. The method in which computer assess 22. 98 Y f9d SR BEl & AR — AR
performance of students as well as students can BTAT @ eI B Ahar Hal 8, AT 8
give instructions to computer is - FI BT e ¢ W © —
(1) Dill @ f
(2) Tutorial 2) R o
(3) Simulation (3) SIEUP
(4) Co-operative Learning @ FEATES AR
23. The present value of cash inflows of a project 23. TU& IR 9§ AFS IATdis BT 9aHH Jod
¥30000 and initial investment X 18000. 3000032 Td wRfe fFERT 18000 E |
Calculate Profitability Index. AMEIGAT JABid HId BT |
@ 1.67 A 167
2) 246 (2) 246
3 320 @3) 320
@ 125 @ 125
24. India is a developing country due to which 24. ¥RT TSP sl srefaawenr ¢ w7 9 f&a
following characteristics? FEIoT | 9S4 Wil 27
(1) Five year planning system (1) deasig SRl ® R
(2) Per capita increase in food (2) ufteEf} EEmE $1 STHT 98 V&
consumption g ,
(3) Decrease in economic backwardness ) gﬂ 1 AIfiE fesmT o5 &
(4) Per capita real income is increasing @) wiaf awis R 98 8 2
25. Committed fixed cost does not includes - 25. TE-ag ReR @Gl # e T8l § —
(1) Discretionary fixed cost 1) e Rer are
(2) Sunk costs @ T=a RING
(3) Unavoidable costs () U@ I TE SRS
(4) Depreciation @) -
05- 3k Page 6 of 32




26.

27.

28.

‘Who first used the word ‘Entrepreneur’? 26.

1) IS.Mill

(2) Richard Cantillon
(3) F.H. Knight

4) Joseph Schumpeter

What do we call the movement of the 27.

economics of the world towards unrestricted
cross border movements of goods and services,
capital and the labour forces?

(1) International Trade

(2) Liberalized Economy

3) ) Globalization

@)+ All of the above

What do we ciall-the rate at which 'the Reserve  28.

Bank of India lends money tp commercial
banks?

(1) Reporate

(2) Reverse repo rate

(3) Cash reserve ratio

(4) Statutory liquidity ratio

FEAl TR BT YA qaueH e afdm =
T ar?

(1) wivw A

2 =R dfeem

() THTE. AT

@) S geiiex

W 9R SMEIEl B WRE g @
sRfegaverell & gHIT ®I &9 T BEd &7

1) IFRIST @R

(2) ISRiGa spiee

3 eI

@) SR a9

IR Red & o = w® aiftiae I
Pl I IR QT B, SH X B BEd & —

1) O

2 Rad ==

(3) TTPE A& U™
@ Gue TR ST

29. Which of the following is a feature of nominal 29. =fiRed § 9§ &9 W TFEE & 9ECER
partner? ; o fagar &7
(1) Contribute in capital - @) o ommer &
(2) Participate in management (2) uS # 45T o §
(3) Generally share-profits/losses (3)  AHTIR SR /B0 A e g
(4) Unlimited Lability @) fﬂﬂ'ﬁﬁ <R BT @

30. “Unemploymentmay be defined as theidleness 30. “SRioWI S9 Flqadi @1 Flpaar 9
of persons able and willing fo work.” Who URMI™T & 773 8, S R $ & AN U
provided the above definition? gD T SWRIad gRymT s & &7

(1) De Mello ' @ 2 deh

(2) Keynes 2 o9

(3) P. Sargent Florence 3) W Iei< TN

(4) None of the above @ SR F Y Pig T
05- % Page 7 of 32



31. Whose area is wider in Business, Commerce,
Trade and Industry?
(1) Business
(2) Industry
(3) Commerce

(4) Trade

32. Deferred Revenue expéﬁ‘diture is/are shown in
........................... till final adjustment.
(1) Trading Account
(2) Manufacturing Account
(3) Profit & Loss Account
(4) Profit and Loss Account and Balance
Sheet

33. How many minimum number of members are
required for registration of a co-operative
society?

1 Two

(2) Ten
(3) Twenty
(4) Seven
34. Which of the following is not a method of
estimating working capital requirements?
(1) Forecasting Net Current Assets
Method
(2) Projected Balance Sheet Method
(3) Stochastic or Miller-Orr Model
(4) Operating Cycle Method
35. Which function is not included in physical
distribution?
(1) Storage
(2) Transportation
(3) Inventory management
(4) Market research

31.

32.

33.

34,

35.

fopere wewl o araegdar 87

®» =

2 w9

@ @9

4) <

f=ifpg 4 @ el e gol
FATaTIHarR P AFAN o Pi {3 TE 87
(1) gE 71 FHfy QErgA QA

(2) v fRrgr Al

@) wHRed s FeR—-eR gloAm
@ uRames =% R

Aifte RAeRer § e ol |fafad T8
87

1) HSRU
) uReged
(@) zFa<d wEy
@) IR SR
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,/
"36. In which method of demand forecasting, we 36. W7 QaisarT @1 fr ffy ¥ @ &1 wis
assume the time is a independent variable and TR AT I 9137 B I TR 619 B °iT
demand quantity is a dependent variable? T gATAN TR wﬁ%‘?//
(1) Trend Project Method (1) SuERT weémor fafy
(2) Modern Econometric Method (2) g seifda A
(3) Graphical Method (3) @ o Al
(4) Economic Indicators Method @) e deaie
37. Which of the following institution is authorised ~ 37.  Friftha % ¥ BT W eI DG W 9D
for framing Standards for Auditing (SAs) in (SAs) 19 & forg aﬁqm-%?
India?
(1) Institute of Cost Accountants of India (1) YRG BT AN T AR
* (2) Institute of Chartered Accountants of @) T 7 ( f'i) ;
India .
HRH
(3) Institute of Company Secretaries of .
. (3) ¥RA & BT g HRem
India
(@) Institute of Chartered Financial @) R @ wE (@) iy
Analyst of India faveme dens
38. Eachindividual has a ‘self —image’. Ttdoesnot 38, US® T &1 Tk 3A — BiY' &1l &
(1) Expectted self — concept ¥ @ " N
(2) Ideal self - concept (2) STERT AT — R
(3) Actual self - concept (3) TIEF AT — gRM
(4) Abrupt self — concept 4) TSNS ARH — RO
39. “Measures of the location or position of a 39. “f&dl amgiy faa=er @t Refa o1 v & =
frequency distribution are called average.” This MG PEA 17 FE UNAMT e )
«definition was given by - &
1) i [ PSS
(1) Croxton and Cowden na! (D) IR T P19
(2) Simpson and Kafka @ 7 Cq PToeT
(3) Yule and Kendall @ I@ d Bosd
4 A.E.Wah @ U g aE
05- 3k Page 9 of 32




40. During 2020-21 insurance premium paid
| $20,000 (including premium of ¥ 12,000 per
annum paid upto 30" September 2021). What
will be the .adjustment entry necessary as on
31% March 20217

4 4
(1) Prepaid Insurance
Premium A/c Dr. 6,000
To Insurance
Premium A/c 6,000
(2) Insurance Premivm Afc
Dr. | 20,000
To Bank A/c 20,000
(3) Insurance Premium Afc
Dr. 6,000
To Prepaid Insurance
Premium A/c 6,000
(4) Prepaid Insurance ‘
Premium A/c Dr. 12,000
To Insurance Premium
Alc ‘ 12,000

41. A credit sales of 200 has been credited to
Sales A/c and also to Sundry Debtors Alc.
Which of the following is the correct

| rectification entry?
‘ T 3
‘ (1) Sales A/cDr 400
To Suspense Alc 400
(2) Sundry Debtors A/c Dr 400
To Suspense Afc 400
(3 Suspense A/c Dr 400
To Sundry Debtors 400
(4) Sundry Debtors Afc Dr 400
To Sales Alc 400

42. 'Which is social factor of Economic Growth?
(1) Caste System
(2) Inflation
(3) Cost
(4) Price

40.

41.

42,

a§ 2020-21 & <R 20,000 & 1 Hifvgw
31 A A (12,000 ¥ ufead & & @
30 R 2021 T & o AT BT wfie
PR gY)| 31 A 2021 B @ S awel
AEEH T dfafe gy —
4 4
(1) Prepaid Insurance
Premium Alc Dr. 6,000
To Insurance
Premium A/c 6,000
(2) Insurance premium Alc :
Dr, | 20,000
To Bank A/c 20,000
(3) Insurance Premium A/c
Dr. 6,000 |
To Prepaid Insurance
Premium A/c 6,000
* t{(4) PrepaidInsurance ,
Premium A/c  Dr. 12,000
To Insurance Premium '
Alc i 12,000
200 ¥ SuR fama & fog foma @ wd
fafier 3aR @ BT 0 SR T R wm
7 i 9§ PR O RS ulafe gl
4 4
gl) Sales A/c Dr 400
To Suspense Alc 400
(2) Sundry Debtors A/cDr- 400
To Suspense Alc. , 400
(3) Suspense A/c Dr 400
To Sundry Debtors: 400
‘(4 Sundry Debtors A/lcDr 400
To Sales Alc 400
Pfw afE &1 wFIfoe 9@ BF |rE?
(1) il SawRn
2) s ™R
3 <« .
@ @ “

05- % Page 10 of 32




\,

\43. Every promise and every set of promises, 43. VD T AT FEl BT U TR PR
N, forming the consideration for each other is ..... R qﬂé\, P HRIBE B €,
%k HEAR B |

(1) Contract ) eﬁﬁﬂ
(2) PI'OPOS&I (2) S ES I
(3) Agreement (3) s=mE
(4) Acceptance (@) Eﬁ‘rﬁﬁ[
44. The Board of Directors of a joint stock 44. TS Hgad Yol Hu & Feod HAsal @
company is elected by T4 & —
(1) General public (1) <EF S
(2) Employees (2) BHHEAN
(3) Shareholders (3) IR
4) Government bodies @) THER For
45. Self — awareness, self —regulation, motivation, 45, ¥ — SIFT&dl, W@ — FEw, UM, WP
empathy and social skills are the basic 3R AATD DI ... gf& & el TP
i components of .......... intelligence. gl
, (1) Concrete intelligence @) = gﬁé
(2) Fluid intelligence @) W YE
(3) Abstract intelligence &) 3"33‘ _flﬁ'é
(4) Emotional intelligence @ e gfy
46. Constructivism view of learning concept was 46. 3IfEFH & FFRAFEE AR H FITH
first of all proposed by ........... . ¥ qan|
(1) Dewey and Piaget 1) IF &R
(2) Green and Gradler ) U 3R YR
(3) Piaget and Gradler (3) foIe 3k dser”
(4) Dewey and Green @ S &R A
47. HDI stands for - 47. TASLAE. F T AW 2 —
(1) Human Development Institute (1) 9 [P HwRI
(2) Human Development Interest () A9 fawr s
(3) Human Development India (3) ArFY faen aRd
(4) Human Development Index @ a9 o gasie
05- 3 Page 11 of 32



48.

“Cash from investing activities” does mot 48.

includes -

@

@

&)

@

49, There are 5 black and 3 white balls in a bucket, 49.

Payment of loans and advances to
third party

Loans and advances from financial
institutions

Payment made for purchasing fixed
assets

Cash received from sale of intangible

assets

two balls are drawn one by one with

replacement, then it is the illustration of -

1)
@
3
@

50. Secret reserve may not be created by - 50.

®
2
&)

Independent event
Compound event
Dependent event

Mutually exclusive event

undervaluation of stock
rent received credited to Building A/c
amount spent on addition to assets

charged to Profit & Loss Account

/

"ﬁﬁﬁw%@ﬁmm'ﬁwﬁy

T8 & - ,

(1) ORR BRI BT PFTaH B T 5’0
q IAH

@) iy wemi 9 Y ™ ®=o 9
it

(3 =R TuRE SEn 5g e

@ o kel & (ma | %S
T

Uh GNP A 5 el 9 3 B I 3| T

9T U% — T% &% 999 IE&J g 598 9§

fRprel TS, 1 g TeAT SR § —

(1) N TeT

(2) i =e

(3) i =eAr

(4) TRER JAUIS GEAT

T HER Tl 9T Sff Wl © —

(1) WIF BT qeHidd FH RSP

(2) W T 9o O n-H o D

3 wufiy ¥ gfg @& = @1 g ¥
AT R # =Sl DD

(4) an amount set aside to replace the @ guRy & gﬁ'@)‘lﬂ? % forg EF‘I?F\[ #
assets in the books Gefdh 13T G
51. Which of these is not an advertising objective? 51. T/ & & @ 91 famm= &1 St =786 &7
(@) To increase sales ) Ty gfg Fm
(2) To introduce new products (2) = TEGRH Pl AT BT
(3) To decrease demand in market (3) SEIR AN H T HRT
(4) To develop new market @) T INR B OFN
05. & Page 12 of 32
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Which one of the following is criteria for taking

decision under Internal Rate of Réturn (IRR)

method?

(1) IfIRRis equal to the cost of capital
.(2) IfIRRis greater than the cost (;f capital

(3) IfIRR isless than the cost of capital

‘p ; L)

(4) None of the above

52 = ¥ @ &9 #Augve & g8d maR®

T X (IRR) Ay 7 felg ford o €7
(1) w4 IRF TEE T (IRR) Tol
IR (Cost of Capital) & SRTER &
(2) ; 59 NG ™ &R (IRR) TSl
oI (Cost of capital) I few &
(3 v FRF UA™ X (IRR) ol
ARTA (Cost of Capital) ¥ HH &1
@) SR Y PR T8

53. What is the Financizl Tarisdiction of the 53. e amawr =1 Rl &R @ 87
District Commission? ; <y
(1) Upto 1 Crore M) 133§ TF
(2) Upto 10 Crore. @ 10FS T
(3) Upto 5 Crore 3 5 EF?I%’ a® ’ '
4) Upto 10 Lakh . @) lom ad
54. If three independent activities, occurs 54. 3} V9T WA HSAN TP T e &
simultaneously [Pagpac)], what will be [Peaapao], T wfsar gFi?
probability for that? , <
(1) Py XxPg) X P (1) P xPe XPe
(2) Pa+Pm+Po 2) Pa+Pe+Po
(3 Pw-Pe -Po W () P -Pe -Po
4@ Pans o 4@ Parenoy
55. Fill in the blanks — S 55. Raa =i &1 I & —
2020-21 2021-22 Absolute Percentage 2020-21 2021:22 Absolute Percentage
. HqT ? 16,00,000 ~ 7 (20}
Revenue ? 16,00,000 ? (20) (Revenue) |
(1) T 22,00,000 ;% (6,00,00) (1) - 22,00,000.;% (6,00,00)
(2) T (4,00,000) ; % 20,00,000 (2) < (4,00,000) ; ¥ 20,00,000
(3) 20,00,000 ;3 (4,00,000) (3) ¥20,00,000;% (4,00,000)
(4) ¥14,00,000;% (2,00,000) _ @) T14,00,000;% (2,00,000)
56. When was ‘SEBF established? 56. SEBI & ®IGT &9 §57
(1) 199 . @ 1990
(2) 1988 (2) 1988
(3) 1989 ,z (3 1989
4) 1982 @) 1982
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57. Trial Balance may be useful - 57. Teve ARG B 9l © —
(1) to locate errors of commission (1) RaE ddeh sngfeal o1 T
(2) to ascertain arithmetical acciracy of @ forg
2) @il 981 @ MY ggar i
the ledger accounts (
g _ e e @ forg 7[
(3) to locate errors of Principles 3) fugia e G‘TW FT AT ”cﬁ"]ﬁ
(4) to locate compensating errors % forg
b, (@) U STgfEEl & uar e B ﬁm
58. Which of the following is/are called Direct 58. fifpa # ¥ oF ¥ yE U B
expenses? - &7
(1) Cost of special moulds @) Ry &= @ o
(2) Patent and Royaity for a specific cost (2) TS P aFG 568 B (HE g
unit ARBR Yob
(3) Cost of improvemént of defective J
product () [ SR B GAR A A
@) Allofthese . @ Fun
59. Who controls the organized Capital Market in ~ 59. 9R< # €ieq ol Iy &1 P Frifa
India? HCT 87
(1) Reserve Bank of India (RBI) (1) Red § sffe 2Rmm
(2) SEBI (2) I
(3) Both of RBI and SEBI @) Rud ¥ sife SR s Wl I
(4) Central Government @) ST TWER
60. Which bank was established in 1982 forexport 60, /=1 # P17 &1 §F 1982 § wnfia gamw
promotion and import loans? frafg dicareT T sl & o T <ar 87
(1) World Bank O e d®
(2) Merchant Bank (2) W 9%
(3) Asian Development Bank 3) PRrm e CE7
(4) EXIM Bank @ Ui 9
6l ... .oe.development is related with 61, ... P gRon, Seu, a@ 3NN T
perception, jmagination, reasoning and TR S R 2
problem solving. AR
(1) Social (;) .
(2) Emotional @) Fiaf
(3) Cognitive @) S
(4) Physical @ i
62. Horizontal Analysis is a - 62. &fw faveo v T
(1) Time Series Analysis 1) Hrel Sl e
(2) Static Analysis 2 ifts Qg
(3) Comparison of statement of one period ) UF @A & FRer $ e
(4) Inter-firm Analysis @) saHH o
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64.

65.

66.

67.

63.

“Cash Equivalents” includes - 63.

(1) Cash-in-hand
(2) Preference shares matured after one
year
(3) Shares of unlisted companies
(\4 Money 'market deposits for very short
\ period

11 Months old khushi -attempts to identify and  64.

grab objects and puts them in her mouth to
explore and study it. According to Jean Piaget,
this is the -

(1) Stage of formal operation

(2) Preoperational stage

(3) Sensory motor stage

(4) Stage of concrete operation

The coefficient of variation is a percentage 65.

expression for which of following?
(1) Mean deviation :
(2) Standard deviation
(3) Quartile deviation

(4) None of the above

In which method of depreciation, asset cannot  66.

be written-off to zero?
(1) Diminishing-Balance Method
(2) Equal Installment Method
(3) Anniity Method

+

i .
(4) Revaluation Mgthod |

A Principle of M;anagement' given by Taylor 67.

is -

"qHe goa' | Wil § -

(1) ey

(2) TF T 915 UnFEY I ofw

(3) g FUA D S

@) 3rfc—are sy @ o1 IR H
Rl

11 918 3T e gegall o ugare, ghes 9

3T HE A BIel BY ST USAM G U
FRA & | S el & SR, I8 SRRl
&

(1) SieRe wfhar # aweeer

(2) UEERFACTS JTwRIT

(3) sl — Ui erERen

@) < wfrar s

fereRvr Tt Frefeiea o @ e afoem
affyeafen / =i 87

(1) 9~y foge=

(2) wFe e /g e

@) = Rae

4) SWRTd ¥ g BE a8

TouEE o e By § wuly gw 9o
sraferRae =@l 81w 87

(1) =< g8 UY Ul

(2) wa= frea IE

(3) aifver fafy

@ gTiE [
SoR ® g 3 T uew @7 U fRugia
T -

(1) Unity of command. (1) A= P Thal
(2) Harmony not discord (2) =AW, 71 % eINg
(3) Order ? (3) W
(4) Equity 4 @) T
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68. Which is the oldest form of Business 68. AT HIGT BT UHGH WTHT DI
Organization? g7
(1) Sole Proprietorship 1) THA @i
(2) Company ) Bl .
(3) Joint Hindu Family Business (3) wgm feg uRawr =gdE /
(4) Partnership @) RN
69. ICT stands for - 69. <MEHIE FT A § —
(1) Information Classroom Teaching (1) SABHEIT FANT SIFET
(2) Information Communication @) SIHEE Wﬁ?ﬁ'ﬂﬁ T
Technology . i ]
(3) Informative Computer Teaching 3) Tofifes » qeX i
(4) Induced Computer Technology @) SoU¥s HYR TS
70. Identify the correct pair - 70. | T F YFAC -
(1) public company — Minimum 5 (1) ENES S — AT 5 qE
members )
(2) private company — Minimum 2 (2) ol 9 — YAgH 2 95l
members
(3) Partnership — Minimum 8 members (@) wEHEN — AT 8 G
(4) Cooperative-society — Minimum 20 .
members 4) BRI QR — <TIad 20 95"
71. The Principle of Maximum Social Advantage 71. 3@®w wmie oW & Rigm &
is given by - e o —
(1) Dalton M .
@) 1.B.Say @ w.&%
(3) Chapman (3) =uA
(4) Findlay Shirras @ fosa R
72. Imprest system of petty cash book - 72, GEW AGS FEI A AU YIEH TG ~
(1) is helpful for petty payments (1) e YA § qehd
(2) is helpful for small value payments (2) TS ©H T 7] ﬂﬂ‘dﬁ % forw Y
which are generally repetitive in nature g’ﬂ'ﬁﬁﬂ?ﬂ IR-9R BN & TP D
 §
(3) (1)and (2) both e
. 3 {192 =G}
(4) is helpful for Managers @) et & B wERe
73. The system approach includes - 73. Uil SUFTH # affaferd € —
(1) Input, Process, Qutput and Feedback (1) sYe, Uik, sneeye iR ulayRe
(2) Process, Criteria, Input and Feedback (2) wip, AFEs, gYe iR ufigfe
(3) Criteria, Input, Output and Feedback (3) ¥IMEs, $YE, aT¥cye SR wiyfe
(4) Process, Input, Output and Criteria 4) ik, g9Ye, Jeeye 3R HHSsS
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4. Management Accounting is mainly related 74. WEH SR e TR § —
with -
(1) Projection for future () s < forg weyer
(2) Cost ascertainment 2y < fReriRer
(35\ Past and present events (3) Y@PRIE T qhA TRl |
(4) Quantitative information only (4) SHae TRANIHS GCalE]
75. The effect of the Deficit Financing is - 75. SRl YaRH BT WHIg BT © —
(1) Inflation (1) ¥&1 YR
(2) Deflation (2) HsT AHad
(3) Reflation (3) HET TP
(4) Stagflation @ Preg =i
76. The rate at which the Reserve Bank of India 76, 59 & W A P SR o ARE Tl
gives loan to the Commercial Bank is called - Bl Wé?" 2 SR D P § —
(1) Interest rate @ WT'\‘TT B
(2) Bank rate (2) ¥F o2
(3) Exchange rate 3) s W
(4) Sales rate 4 ==
77. “Buyer Motives’ have their place or position 77. ‘ST IROMY JUAT RIM I B —
between -
(1) Needs and Action @ SRl AR FRIATE @
(2) Desires and Action 2) ool SiY FRAE! &
(3) Zeal and Action (3) ST OR PRIAE F
(4) Interest and Action @ < dR SRAE & e
78. A company is interested to redeem 35000 78. U@ HUHI AT9 5000 e 3¢ 100 sifdper
preference shares of X100 each by issuing g alel RE e TRl & sHe Y
20,000 equity shares of T 10 each at a premium 20,000 |ERY 3 10 Tael 2 Iuf 3
of T2 per share and remaining from its Hifyew W Frifea & e Ay IRy Suee
available free reserves, then amount to be ot Gl | W H A & dr “geir
transferred to “Capital Redemption Reserve” oreF wem feol A EwamIRG @
will be - ST
(1) Zero Q) =
(2) ¥3,00,000 (2) 3,00,000%
3) ¥5,00,000 (3) 5,00,000%
4 ¥2,60,000 @ 2,60,000%
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79. A project of ¥40,00,000 yielded annual profit 79,  40,00,000 T TF FoE 12.50%
of ¥6,00,000 after depreciation @ 12.50% but ~ ~ SMURIRaT X fbeg 50% & €%
before tax (which is 50%). Calculate pay — back S @ g a1i¥d A 6,00,000% wne S
period. | SRRl af s B |
(1) 6.67 years @) 6.67af i
(2) 4years 2 49
(3) 5yeas (3) s5ad
(4) 2.86 years 4 2869y
80. Which is not included in Outdoor advertising?  80. ¥ R ¥ w7 IWiver = g7
(1) Wall writing ) ¥R o
(2) Posters and Hoardings (2) R T A
(3) Sandwich man advertising (3) v A9 fsm=
(4) Display advertisement @) gusar fagmue
81. Income method is related with - 81. any fafYy & wwfRe & —
(1) National Income D g e
(2} Tax (2 o=
(3) Goods (3) ¥
(4 Bank @ %
82. Find the probability that a leap year will iave 82. e &7 9§ 3 53 CHAR AT IFER BN &)
53 Fridays or Saturdays. TR Sid B9 |
@ > W 2
@ 2 @ 2
@ 2 @ 2
7 7
@ 2 @ ?
7 7
83. The average profits of a firm is T98,000. The 83. uF % @ e o 98,000 €| 59 B9
total assets of the firm are T 10,00,000. Value ol fel FERET 10,00,000 Ta7 &1 3y
of other liabilities is ¥ 5,00,000. Average rate TIREl &7 T 5,00,0002 8 | TN UBR &
of return in the same business is 14%. ATH § AT AR &7 8Y 14% 2 | sl
Determine the value of goodwill from ol & Yofiver Rty grT =y @ oI B
capitalization of average profits method - TOMET HF —
@) 7,00,000 (1) 7,00,000%
(2) 9,80,000 (2) 9,80,000%
@) 2,00,000 (3 2,00,000%
@) 3,00,000 @ 3,00,000%
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\84. National Income includes -

84. W g ¥ wffe € —

(1) Rent (1) ©mH
, (&) Wages 2 ToOR
(3) Profit (3) @™
(4) All of the above @y TR Tl
85. MGNREGAisa- 85, IR —
(1) Housing Development Programme @) oy e risa
(2) Agricultural Development Programme ) N e erisa
(3) Employment Guarantee Programme (3) SR TRE HRHH
(4) Industrial Development Programme @) e e EANEL
86. Indicators of Mental Health includes — 86. wFife wWed @ Wade! § md € —
(A) Emotional Balance (A) HIHS AT
(B) Sense of Humour (B) W P AT
(¢) Inirinsic Motivation (C) araRe IR
(D)  Extrinsic Motivation (D) 9= JARHRen
(1) A,BandC (1) A,BIRC
(2) A, BandD 2) A,B3RD
(3) A,CandD (3) A,C3RD
4 B,CandD @ B,C3RD
87. Which element of teaching model refers to  87. R YRS BT B A aed 30T & Seedl
abjective of teaching? ¥ e 27
(1) Focus 1) o fg
(2) Syntax (2) T A
(3) Social system (3) THEINTE HoTiell
(4) Support system (d) WEES Gl
88. The factor which effects the economic 88. onie walaRvl BT wHled HE il UTh
environment is - g -
(1) Natural Resources 1) WEHRS GaEE
(2) Human Resources (2) uFg HEEE
(3 Social Institutions @) WD G
(4) All of the above @ SRS T
89. The undesired and problem behaviour can be  89. Iraifse iR GUAT TAER BT Wl B kil
modified effectively by using principle TRATSI,  eveerrrereemern @ Rigid &1 ST
of ... B T ST FehdT &
(1) Classical Conditioning 1 g
(2) Operant Conditioning (2) TPaTIRE ST
(3) Trial and Error Learning (3) T IR Ffe A
(4) Multidimensional Intelligence @) g g
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90.  Who gave the Principle of “Span of Control”? ~ 90. "fRizwr & favar” o Rugha fre Rar &7
(I) F.W. Taylor (1) TP S, ToN
(2) Graicunas 2 jomq t
(3) Flippo (3) foforar /
@ George R. Terry @) oo e %
91.  Which of the following is not a component of 91. ST ¥ "wdfe RTITT P T o7 T OCH
“SWOT Analysis™? TE &7
(1) Threats () <o
(2) Strengths (2) wfdqai
(3) Weakness 3 wHESIRI
(4) Options @) fawe
L7 development has three phases per- 92. ... e & 9 o o - uRoRs
conventional, conventional and post - UNGNP R TR — IRIRS § Trl’f}ﬂ%[?ﬁﬁ
conventional to distinguish between unethical 3R A & drer iR PR3 # IR ferp BT
and ethical and select ethical. g §] Fe
M) Social O |
(2) Cognitive 2) e
(3) Physical 3 WRIRF
(4) Moral @ IR
93. The Chairman of the District Consumer 93. RIelT Susigar GOy URYE BT e B
Protection Council is - g -
(1) District Judge @) frem ~meneer
(2) Commissioner (2) srg®
(3) District Collector 't @) e BorreR
(4) High Court Judge @) = YA b g
94. A and B are partners in a firm, thei%' capital are 94, T IR W TH B § AEER §F o9y ot
T10,000 and ¥20,000 and undistributed 10,000 ¥ w9 20,000 ¥ a2 oifdaRa o9
reserves < 10,000. They admitted C for 4% 10,000% 2| SN & # Uty 3 ferg
share. C brought ¥ 20,000 as his capital. Find WA f&r) | 20,000 T SOy ot & w9
the value of firms goodwill - ﬁmiwﬁaﬁwﬁmwwm‘r—
(1) 80,000 (1) 80,0002
(@ 20,000 ' @) 200003
3 40,000 (3) 40,0002
4) 60,000 4) 60,000%
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Buying decision process starts with - 95. w foRr vfsbar U BRA & —
(1) Need Recognition (1) NTEHA B GEAH Y
(2) Evaluation of Alternatives @) el 1 et ¥
(3) Information Search @) Rl B @ |
@) Both (2) and (3) @ SwE @R @)W
96. Self reliance campaign (Atmanirbhar Bharat 96, 3TN W ST fwferaa # 9 59
Abhiyan) was launched in which of following TR /g # g% fHar o
month/year?
1) May 2020 (1) 72020 -
(2) June 2020 (2) ST 2020
(3) July 2020 (3) ST 2020
@) August 2020 (@) TR 2020
97. Which of the following is not a function of an ~ 97. el § @ @9 9 Sgdl B I8 PR
entrepreneur? T8 87 .
(1) Searching opportunities (1) EERI B EIo H
(2) Doing innovations (2) ARIR BT
(3) Not adopting changes (3) uRedsi & & ST
(4) Bearing risks @) NREE SomT
98. The concept of Five Year Plans in the 98. d&@dig ATl B Hepoudl RAT e
Constitution of India was borrowed from - # fpe 3 3 T Y g Al
(1) Russia (D) =
(2) England @ s |
(3 United States of America &) -\qw S SR
(4) Germany @ . ST
99, Which organisation was working -preceding 99, fr=fafag & & o @1 Wiyed f3wg =R
World Trade Organisation from followings? G BT Yhadt oi?
(1) General Agreement on Tariffs and 1) My iR FUR ) IER GESar
Trade (GATT T
@ Internaftional Iz/Ionetary Fund (IMF) @ R o
(3) International Bank for Reconstruction 3 gﬁﬁ-ﬁh v fawm @ forw
and Development (IBRD) IR I
(4) International Finance Corporation @) RIS forT e
(IFC)
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100. On the basis of Economic Survey, India is 100. “Rd aniies e 4, B W us BEAHT
known as - &7 /
(1) Developed Country (1) i /
(2) Developing Country @) i T !
(3) Under developed Country @) srfaBfia s
(4) Highly Developed Country @ = fawlma TS o
101. A type of entrepreneur on the basis of nature - 101.  YSfy & IR TR Tl HT TF THR —
(1) Fabian Entrepreneur (1) W SER
(2) Joint Sector Entrepréneur (2) ST & Sl
(3) Trading Entrepreneur (3) amERe S
(4) Co-operative Entrepreneur @) SHN SEE
102. Sweat equity shares are issued by the 102. W< SR 3ieT Tob U ERT SIET [E NI
company- g —
(1) only to its Directors : (1‘)i ®del 9SG FATRT i
(2) only to its employees 2 Dad IGH FIARTT By
(3) toits Directors and/or employees (3) U Hurcdd! @ /AT FAARGT By
(4) only to its shareholders 4) DI SHP RN} By
103.  When was Reserve Bank of India established? 103, Rerd 3% ifw $Ra1 1 womumn o9 g o
(1) 1 April 1930 (1) 1 siier 1930
(2) 1% April 1935 (2) 1 e 1935
(3) 1% April 1937 (3) 1 e 1937
(4) 1% April 1938 @ 1 37T 1938
104. A lecture delivered to school students by an 104, el BIEI FT s gRT 22T TIT URE
expert is known as - PEART & —
(1) Intrapersonal communication @) 3 TS o
(2) Interpersonal communication @) sfadafxD wwEe
(3) Mass communication (3) b T
(4) Non - verbal communication @) S wEyeT
105. The agreement between Partnership Firm is 105. WEEN w§ & 4999 99=ild &7 @& w@r
called ............. 8-
(1) Partnership Contract 1) EEES SRR
(2) Partnership Act (2) wEER AR
(3) Partnership Deed (3) IEEN Yo
(4) Agreement (4) GEiET
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106. How can resistance to change be reduced? 106. GRadT URRE P Y o4 a1 T wFW
N ?
(1) Increase in workload %(1) PR § gy
(2) Overcontrol (2) & o
(3) Fear of financial loss 3) onie T @1 99
(4) Effective leadérship @ waEEenagE R
107. Who developed Jigsaw method of teaching? 107 forwads g1 Rvrdl R vgf ® e
fsar Tan? -
(1) Johnson - David & Roger () ST - e SR AoR
(2) Sharan and Sharan @) TR AR A
(3) Elliot Aronson (3) sferme T
4) Slavin @) T )

108. The Debt-Equity Ratio of acompany is 2:1,the 108, U® HEAL DI E@W—Q?ﬁfﬂ ‘ﬂﬁcﬂﬁ (Debt-
company is going to issue Bonus shares. After Equity Ratio) ?:,1 ?, PR 9 SRl Bl
issue of Bonus shares, the debt-equity ratio of oo P I < él dE e B ﬁ’f‘iﬂ
the company will - @ TR, A & VAT AT ik

(1) Increase a) Eﬂ?&r gt ,
(2) Decrease @ woEm o h
(3) Information insufficient (3) OET
(4) Not alter @ o gE TE IS
109. Which central tendency has been used to 109. UH @&l & BEl ® gy &1 N wR qar
*  measure the average level of wisdom osf the T B Rl BN § e war e
students in a class? S 87
(1) Mean @ T
2) Mode 2y 9T
(3) Median (3) DT
(4) Geometric mean . @) OITR AR

110. As per social audit assessment index report 110. e ifye sraie §Saw RUE 2020 %
2020, social audit is applicable to which of the AR, | sifee ffelRag § 9 T
following scheme? o T AN BT 87 ' '

(1) MGNREGS (1) TENTAARENGE. (MGNREGS)
(2) PMAY-G @ fTARaEsh (PMAY-G)
(3) NSAP (3) TITETH. (NSAP)
(4) Allof the above @ wRE '
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111, Which of the following is not an element of 111.

7

/

Priferem 3 W P a1 S R ST

promotion mix? el &7 ]
() Branding @) Fife
(2) Advertisement @ fasmo
(3) Sales Prometion 1 3) fapa HaeT
(4) Personal selling @ fRrTd faha il
112. Interest-on-calls in arrear may be charged - 112, ST A7 R & Gl fBw W1 g
(1) 10% per annum or the lesser rate g - ‘ »
prescribed by the Board of Directors 1) 10% TfF <T@ o1 o Avsa
(2) rate prescribed according to table F gRT iR <2 Sl &7 &
only (2) o AR UF ERT FEiRa ev 9
(3) rate prescribed by the Board of () ad HaEE AvSH gRT FMHiRG &
Directors only q
(4) No interest is c’hargerd @ B @ T8t TRIAT S
113. In which sector, Disguised Unemployment can 113, #Ra # B¢ g8 ot 5w &3 & uiE
be Observed in India? S &7 n i
(1) Agricultural sector W 7w a
(2) Industrial sector @ e &
63_) Banking sector @ ST e
(4) Service sector @ < am
114. Which, of -the following is another name of 114. %7 § | B\ w1 SyIET oI qEARIP BT
consumer’s price index number? ORI A9 27
(1) Sensitive Index Number (1) e gasie ’
(2) Composite Index Number (2) THT GABID
(3) Cost of Living Index Number (3) She Fale @ gEeie
(4) Wholesale Price Index Number @ O9F I GEDiP ‘
115. What will happen if the rate of employee 115, HHaR aTRT & & JVF S W FW
turnover is high?, ) BINTT?
(1) Production will increase (1) SEET 9T
(2) Cost will come down @) < Td
(3) Reduction'in training expenditures (3) uREY ==t § T
(4) Drop in employees morale @) TR e e
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6. ..............is the essence of management. 116,  woorerrsnns T6E] BT ER B |
(1) Planning ) e ’ . ,
(2) Direction @ Frém |
(3) Co-ordination @) T |
(4) . Organization @) WIS !
117. Choose the correct statement from the 117. = & 9§ @& $u Y — ‘ |
P following — -1 Tl 3TEE] SERE B 8 oifeh
Statement-1 All contracts are agreement but il SERTG ST &I Bl 21
R all agreements are not contract. HI— 2 Tt S5 AT B § wfd
Statement-2 All agreements are contract but 5 3@9’7 ST 8 B B
all contracts are notagreement. (1) Do puT 1EH L -
7 (1) Only statement 1 is correct @) e FoF 29 &
(2) Only statement 2 is correct @ A T:ﬁ?:r-‘-r ?I’E?f & 'y
(3) Both statement are correct ) )
. @) FUF 1T 2
LA (4) Statement 1 is-wrong-
118. Direct material does not includes - 118,  vouer G F e wE & -
(1) Primary packing material 1) wrRiRE YT |l
(2) Specific material for specific product @ fIftrs v & fory Rt |
(3) Material of nominal value (3) THAE o9 B A
(4) Basic raw materials @ T A
119. The systematic gathering, recording and 119, avgGaT 3R el @Y fror, e weril
analysing of data about problems relating to the & TN H THB I GHAGRO, G UG
marketing of goods and services are called CE L L HEATTT B |
(1) Product Research (1) ST FFET
(2) Marketing Research (2) fRuvm srgEe=
(3) Marketing Database (3) faueE :?-,—aém
(4) Marketing Environment @) R TEmEe
120. How many principles of taxation are given by 120. TS R\ o &Rl % frae Rgma Ry
Adam Smith? 7
M 6 ® 6 )
@ s @ 5 RE
3 4 3 4
@ 3 @ 3 |
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121, The definition of Acceptance is given in which  121.

Section of the Indian Contract Act, 18727
(1) Section 2 (h)
(2) Section 2-(e)
(3) Section2 (b)
(4) Séction 2'G)

1t
122. The Chairman of the National Commission is 122.

appointed by -
(1) the President
(2) State (jovemment
(3) the Chief Justice of the Supreme
Court,

(4) Central Government )

i

123. Whopropounded Trial and Error Learning? 123.

(1) Skinner

(2) Thorndike !
3) Pavlov

(4) Wardt

124. The first step of control process is - 124.

(1) Appraisal of performance
(2) Corrective action
(3) Establishment of goals and standards

(4) Determining the reason for deviation

125. From following which is a Public Sector Bank?  1285.

1) UTI
(2) ICICI
(3) SBI
4) AXIS

Pl B TR Wiy e s,
1872 P forw et & ) g &2

(1) & 2(h)

(2) o1 2(e)

(3) R 2 (b)

@ uRT2(3)

TS STRINT & arde 3 Fgfa feas g
DI WA 87

(1) rsfy gw

(2) TS WRER gRT

() ToTH UEe™ @ 9 ey
BRI

@) T WHR 5N

TN SN Fie AR fhae grr uffeg

o e

1) Rer

() uriSEH

(3) uEdg

@ T

Forg=or uithar &1 werm =or & —

(1) SRl BT TEBT BT

2) GuURTS B

(3 &&=l U9 Al @1 e

@) foues & SR B @R B

e & 9 9 W adete &3 @7 9 27

1) I

2) ST,

3) wadar

@) TR
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136+ “Management is the development of people, 126. "“Weer =ferrdi F1 fawra & 9 % aegall &1
not the direction of things.” This statement was frfem ¥ g8 ous o gRr ofeam T
given by - " B?
(1) Henri Fayol (D) T8 DA

., (2) Peter F. Drucker 2) Y TP, TP
(3) Lawrence A. Appley (3) <RY T Ul
(4) F.W. Taylor 4) TP, S, TR

127. Which statement is called as “100 percent” 127. @ &1 faawor w5 “100 wfere” faR0 o=
statement? BEATT B7

. (1) Balance sheet 1 fEr

(2) Common-size Balance sheet (2) TAFIPR forEr
(3) Comparative Balance sheet ° (3) qerqs =gt
(4) Comparative profit & loss account (@) FoTeId AM—gI Sl
128. Which of these.is not a characteristics of sole 128. fmifeiRa ¥ et e 1 =T =Tt
proprietorship? ' 2?7
(1) Quick decision @ e faolg
(2) Limited Hability ’ @) < e
(3) Independent existence @) Wz aRaa
129. Cash flow statement is - 129. Rrps Qaro & —
(1) Future financial forecasting technique @ s g qafae @) aeie
(2) Related to forecast temporary cash (2) IR APS AATIEHARI BT AT
reguirements E  wERg
(3) Technique of analysis of past (3) YaeelH Rgeyer $ aE e
(4) Related to shown financial pattern @ i e Ta ¥ SR

130. Which law of lcarning states that if connection 130, & T B W A s 8, 6 3l
between stimulus and response is accompanied e ok vRiten & § ey a«—g&f‘[ P
by a satisfy state its strength of connection is ART BT £ |7 W 9 Tred 98 o) 87
increased? .

(1) Law of Readiness (1) e T e
. (2) st ol fEn

(2) Law of Exercise

(3) Law of Disuse 3 1 @1

@) Law of Effect @ R

131. Which of the following agencies is responsible  131. =1 % & 39 € Tl R H ol

for formulating the Fiscal Policy in Tndia? Ry 7 BT TR 27

(1) Securities and Exchange Board of '
India (1) i afefa Sk R 9%

(2) Reserve Bank of India (2) Rod 6 e sitem

(3) Ministry of Finance, Govt of India . ‘

(4) National Bank for Agriculture and (3) T PR B0 A
Rural Development @ s P ek g e 9o
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132. Gross Working Capital represents - 132. 9Fd FrEA ot wfafifee w=cit & ~
(1) Total Assets (1) T FHRT
(2) Total Current Assets (2) @l Al THRT
(3) Total Current Liabilities (3 T A <R
(4) Excess of Current Assets over Current @) e R @7 e gkl W)
Liabilities T
133. For calculation of cash flow from operating 133. YRere™ BFIml I JAge Yare & To=T =
activities which of the following item will be > RE = 4 9 5w w2 91 "ol
deducted? TT?
(1) Increase in inventory 1 q@
(2) Decrease in inventory 2) T H o
(3) Increase in trade payables () =WIRE I ¥ gfg
(4) Decrease in‘accrued income @) ST e & w4
134. Which agency calculates National Income'of 134, 4RT & T T BT BT HT a]
India? TRl B ) 27
(1) Reserve Bank of India § ® Y= Red d
(2) Planning Commission (2) AT SERT
(3) Ministry of Finance 3) &9 dare
(4) Central Statistical Organisation @ DY iRke e
135. Which type of development has relatively high 135. f59 worR @& Rorg W AgaRpar &1
influence of heredity? ST SIRE W BT 87
(1) Social 1 Grfere
(2) Cognitive ) A=FTE
(3) Physical 3) IRIRE
4) Moral @ =fow
136. Economic Development can be measured by - 136, 3nR¥e faer AT o 9o & —
(1) Real Nafional Product 1) T=de T SwE ¥
(2) Death Rate 2 g
(3) Population Rate 3) TEEEI R Y
{4) Education Level @ PEdwRY
137. A Banking co; desires to redeem 5000, 137. U% SR6T &. o 5000, 10% d1d 7 U5
10% Debentures of ¥ 1000 each at par cost TE 10003 3ifPd qeu & Sumer waiw
available sufficient divisible profits. In this e A it 9 e ST gedr =3
case, how much amount should be transferred 59 URReIfy o fohaelt Wil == v siee
to Debentures redemption reserve account, as Ho @Ry & GRT 71 (4) B ATeIHar IO
per requirement under Section 71 (4). SEITIRT & SIgE?
(1) ¥50,00,000 @) 50,00,000%
(2)7,50,000 @ 7,50,000%
(%) 12,50,000 (3 12,50,000%
@ Zero @ T
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138. An entrepréneur who does not want to adopt 138. U&T Sedfl W1 fHelr TR P FaER
any kind of innovation is called — I TTgal, PEeiT & —
(1) Innovative Entrepreneur (1) TavRE SEr
(2) Imitative Entrepreneur @) gERerEie e
(3) Fabian Entrepreneur (3) TR SEFT
(4) Drone Entrepreneur @) e el
139, “The Demand for anything at a given price is 139, “fel &1 g8 ¥/Ma W 0 agq = 70T
the amount of it, which will be bought per unit TP 9% A T, o S g W e
of time at that price.” g A9y R R SR | »
Above definition of Demand is given by - AT Y SURIGT qiRETST & TS 20—
(1) Benham (1) <Ed X ¥
(2) Mill 2 fa= o e
(3) Penson 3) U=H
(4) Bober @) <R
140. A and B are pariners sharing profits in theratio  140. ‘T’ 7 4 3:2 % U 1§f Fﬂ‘T EIE'?T B
of 3:2. They admitted C. A surrenders 1/5 of his IEER £ SN Wl 9 vy & v ir
share, B surrenders 2/5 of his share in favour of I Ry @1 1/5 9 aafta fear, @Y e[
C. What will be the sacrifice ratio? S ey 31 2/5 | Elﬁ wfifa far| T
T T ET?
a1 21 (I 21
2) 1.2 2 1:2
3) 34 @) 34 ”
4) 32 @ 3:2 !
141. Operating cycle period is equal to - 141. yReEre 9% afy & SRER & —
(1) Material Storage’Period (1) GrEl e eEE
(2) Conversion Period (2) wUFROT I .
(3) Conversion Period + Debtors (3) SR SR + IR FIET oTafy
¥ Collection Period — Creditors .
Payment Period — SR T S ' r
(4) Material Storage Period + Conversion @) Y GUEYT [l + HURYT Sae
Period + Finished Goods Storage N 313@[ + AER
Period + Debtors Collection Period — ! ~
Creditors Payment.Period YT Srafeh.— SR G S
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142, An ideal Teaching Learning Material should 142.

143.

144.

145.

146.

be —
(A)
(B)
©
D)

Interesting
Informative
Rigid

Accurate

1) A,BandC
(2) A, BandD
3 B,CandD
4 A,CandD
Contingent contract is ..................
(1) Illegal
(2) Voidable
(3) Legal
4) Void

Which of the following is an example of

Indirect selling expenses?

@)
(2) Catalogues and price lists

Salary of Sales Manager

(3) Carriage outward
@

Out of the following, which is not a wasting

Material used for packing of a product

assets?
(1) Oil wells
(2) Gold mines
(3) Copyright for five years
4) Land
Which vicious circle has defined by Ragnar
Nurkse?
1)
)

(3) Vicious circle of unemployment

Vicious circle of poverty
Vicious circle of population

(4) Vicious circle of illiteracy

143.

145.

14e.

TS e Revr Afvm Sl g9 =z —

(A) wfrget
(B) EIEE
(C) WBR
®) %

@ A,B3RC

(2) A,BIRD

(3) B,C3kD

4 A,C3RD
HARTS e sl & —

(1) e’

(2) =fa

3) H

@ =y

it # & B9 Q1 s fwa @ @t
TP IE 27

(1) fIpa ge=us @1 9a+

2 & v 7 7 Rt

() TES TE WISl

@) wwE FI AET § vgw arEh
fiferT 5 & B a1 g SRy S7 SeTEvr
TE 87

(1) B HY

(2) <@l G

(3) u" n! % fag ufafmaReR

@

YR Y T B ¥ Tk BT 9o
o7

(1) & B gEEH,

(2) TTEET BT gTAD

() IS BT gEEE

(4) SRET FT gIAD
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147. Tn which product / service, composite costing 147. a3 arra fafe, Seare &1 aif<aw @rTa =@
e o forg 5w sae /9 B Sudnl

is useful to calculate final cost of a product —

(1) Printing press

(2) Hotel

(3) Motor car

(4) Road construction

148. In which of following year, the proposal to set-  148.

up National Recruitment Agency was approved
by Government of India?

(1) 2020

2 2021 .

3) 2022

4) 2019

149. When special techniques has been introduced  149.

in production work in a unit, people of that
industry became unemployed. This type of
unemployment is called -

(1) Structural unemployment

(2) Disguised unemployment ‘

(3) Cyclical unemployment

(4) Technological unemployment

27
1)
2
3
@

O]
Bled

e BR
ass fAmior

frefofRea 9§ 9 fbw ad, 9/a WeR g
IR ST GO @ RO © WA B

)
@
3
“@

ot 4 E o

2020
2021
2022
2019

o9 5 fiftre deie &1 STET Bl |
IO BN ORI SRR B o 81 39
P SUSTITN HEd B2

@
2
3
“@

RGP SRR
T SRR
TG SRS
W SRSETR

150. Which of the following is not the objective of 150. fwifha % & HF T afgeror Seva &l 87

audit?
(1) To know true and fair view of financial
position
(2) To detect errors
(3) To detect fraud
(4) To act as Consultant to the Directors
and Shareholders

1

@
3
@

we 9 Sfom iy Refa &1 gar
T

gyt T waT @I

BUS BT TaT AT

Tarere g fwEnRal @& forg
RMAEEAT & &9 § B B

05- 2 Page 31 of 32



Space for Rough Work /3% &1 & foR g

05- & Page 32 of 32




